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3 |varianza 036 Distrbucién normal

4 |desv_est I 0.6 ot " =

3 = Iim;FALS0) | 2.86852E-07 para mu=2ysigma=0.6

5 08 SB2287E-06 6.71328E-07 07

7 0.8 1.24101E-05 1.53063E-06

8 07 268396E05 3297E6TE-06 ob

8 0.6 5.56181E-05 7.34342E-06 05

10 05 0.000112938 1.54543E-05

" 04 0.00022305 3.16712E-05 04

12 03 0.000428451 6.32092E-05 03

13 02 0.000800451 0.000122868

14 -0.1 0.001454471 0.000232629 b

15 0 0.002570465  0.00042808 01 .

16 0.1 0.004418293 0000770885 0 @
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19 0.4 0.01899331  0.003830251 para mu=2ysigma=0.6

20 0.5 0.029213834 0.006209665 =

21 0.6 0.043703148 0.008815329 -

22 07 0.063587706  0.01513014 ;

23 0.8 0.089984944 0022750132 =
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26 1.1 0.215862653 0.0668072(H 0E

27 12 0273350124 0.08121122
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29 1.4 0.403284541 0.158655254

30 15 0.469853126 0.202328381 0z

31 16 0.532413343 0.252492538

3z 1.7 0.586775545 0.308537539 a

33 13 0.62B572045  0.36944134 TS et endn e AR A thd

34 19 0.55573286 0.433816167 '

35 2 0.664903801 0.5

36 21 0.65573266 0.566183833 =
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